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Zxpenditures for WO-5ECtOT ECOROMY {ConsUmpUOn
and investment) are given in the following table:
‘el disposale income Aagregate expeadiures
{iAmions o dolars pes yes).. fuons of dofars per year)
$0 $3.00
1 3.3
2 350
3 375
a 400
5 425
& 450
7 475
8 500

. Construct a graph of the aggregate expenditures
function {AE}.

b. Determine the antonomous consumpion, MPC,
and MPS for this bypothetical econormy.

. What is the equilibrium level of reat disposable
income?

d. What will happen to the equilibrium level of real
disposable income if autonomous investment
increases?




